1. o5 H7)0AM &4 g2 Ae BF 1=2H?

Q@ x 7k ¥ a O Ao, a = = Vxolth

O x 7FAlEZ 9 o] x = 30|t}

|

© 75 o AE2e ZAfelA] gt
® -I JAae gow}.

[¢]

® 0,0 ® 0O, ® 0,6,
® O, O, © ® O,



2.

x>0 0] x 9] Z9] AFZol a

@® a®=x @ x=
@ x=—-+a ® a

\a
Vi

Q]
=

o, o

©°
)

=
o

KoX
25

flo

® x*=a



q_%/\tﬂ
9 £7] oke A
A EE 1!
= m2w9

fijo

@ Fao Al 2 7ol

@ 09 AlFE2 0ot
z AEL4E 42 0]‘:}‘

S50] AFRL SolTh
=R

_\3 oldh.

B 2 9] Lo AFLL



4.

x 7F11 o AlE2d

@ 11 = x
@ 11 = ++/x

o, x k11 o] BAA S Bt=A yebd

@ 112=x

® x= V11

@ x2=11



V5 < x < VA 2 UrESH= A4 1 o] 4Tt 27 1), o] AlS Al
s sHe A4 A £ BE 2 AR

@D 87} @ 97} ® 10 7 @ 117 ® 12 7



6.

V3 <2x-5< V27 & WESHE

D 9 @ 7 A 6

]



VESB <3, 4< V2 <5 O g BE wEsHE A5



8.

V3n 0] 2 & 4 Apo] o] =7} A k= A4 n O] A B AU

@ 17§ @ 2 7§ ® 37§ @ 4 7} ® 574



